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FUKUL JTT | {E 2 KA E 1-3|3-3[4-0| 3-2 2-1 (1)
YAYGTC | FHKEE 2-3|3-1|2-2|3-0 2-1 (1)
fILJTC & =R 1-3 ] 2-1 1-1 (0)
fILJTC A HREET 2-1[0-3|1-2|1-3 1-3 (0)
IHhLWwaz7| EEX%H 4-0|1-3[3-0|0-3 2-2 (0)
Shaz=T7EERBEMRXK 0-3|0-5|0-2|0-3 0-4 (0)
R&ED2=7 | ==AM 2-2|0-5|2-1]2-2 1-1(2)
RED2zZ7 | HHRBA 3-1[1-3|3-1]1-2 2-2 (0)
R&ED2Z7 | FRKRIE |3-1(3-2(1-2 2-3 2-2 (0)
R&ED2Z7 | =iHkE«K | 3-3[1-3[3-1]|3-0 2-1(1)
BHERDER| MEM | 0-4[2-2]|1-2]2-1 1-2 (1)
I a=7 | RIBAK |2-3|0-3 3-1 2-1| 2-2(0)
fILJTC 75 57 i A 0-4|3-0(2-2|1-3 1-2 (1)
fLJTC EEkE 3-1|5-0|5-0] 3-1 4-0 (0)
fILJTC mEE 0-3|2-0(1-2|1-3 1-3 (0)
YAIGTC | BIEER 3-0[3-0|2-2]| 2-1 3-0 (1)
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EFA =V4 EFA
£ 2 KPZEFUKUL JTT) 1-3 ERRERED2=7) 1R
HKEBFFRATGTC) 3-1 SHEREES1=T) 1R
8 EHZ#R(BILJITC) 2—1 MEMEEHERDER) 1R
£ HEFRFLITC) 1-3 RIBFHEZEEIC2=T) 1R
BAAREHLD21=7) 4—-0 FEEEMmAEILITC) 1R
RS BARXREHND2=T) 0-5 EERE@SILJITC) 1R
ZEEMEED2=T) 2-1 BEFEEILITC) 1R
PHHBARES1=7) 1-2 EBER(WTAYGTC) 1R
R HZERISA=7) 2-3 £ R AIEFUKUL JTT) 2R
EBRIERES2=7) 3-2 EAKESZ (W RATYGTC) 2R
SEREREES2ZT) 3-1 TEEZH(BILITC) 2R
MEMEEH EEX D EH) 2—1 AHEEHAGGILITC) 2R
BBER(YAYGTC) 3-0 BAZEHLID21ZT) 2R
PEH M ILJTC) 3-0 BERAEBEXEHNLIC2IZT) 2R
EEE@ILJITC) 5-0 ZEHEMEED2L=T) 2R
HEEZ(ILJTC) 1-3 FHMAERES1=7) 2R




EFEBOAZT WNEIER MpagsuT

EFA =V4 EFA
£ 42 AIZE(FUKUL JTT) 4-0 MEMEEHERDER) 3R
FKEEFHRRATGTC) 3-0 RIEHZEIS1=7) 3R
PFrREFE(FUKUL JTT) 3—2 EEREEEY2=7) 3R
A HBEHEELITC) 0-3 SHEREESL=T) 3R
BARAREHND21ZT) 3-0 HEEF(HILJITC) 3R
ERBARXEHND2ZT) 0-3 BEBER(AYGTC) 3R
ZEEMEED2=T) 2-2 FEHEEMEEILITC) 3R
FHEBAREDSL1ZT) 1-3 E=ERERFLITC) 3R
SHEREREES2=T) 3-3 £ R AIEFUKUL JTT) 4R
MEWGEHEBRDEM) 2-2 EKEB(WAIGTC) 4R
RIBHRKEE IS 21=7) 2—1 BERKEHLI2=T) 4R
ERRIEEED2=T) 1-2 AHEEAGLITC) 4R
EERE®ILJITC) 3—-1 BAARESHC21=7) 4R
HREEERLJITO) 2-0 BERAAEBEXEHNIC2ZT) 4R
BBER(WATGTC) 2-2 =ZEBRMEED2ZT) 4R
SEEMEELITO) 1-3 FHMAERES1=7) 4R
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YRIGTC| HHSZ 4-0 5-0 [ 6-0 | 2-2 3-0 (1)
FUKUL JTT L R 4-0 | 2-1 5-0 | 3-2 4-0 (0)
YAYGTC| EHILHE 2-1 | 3-3 | 4-1 2-2 2-0(2)
FUKUL JTT| $H%EEH 3-1| 1-2 | 3-1 | 5-0 3-1(0)
YRYGTC| StRAKE 2-3|4-1| 40| 40 3-1(0)

fILJTC Nismes st 40| 50| 4-0| 6-0 4-0 (0)
YAYGTC| TEEE 3-1|50]|6-0]|1-3 3-1(0)
EHEROER  AAK 2-3 2-3 | 5-1 | 2-4 1-3 (0)
FUKUL JTT| MA@ 0-3 | 2-2 3-2 | 2-2 3-2 2-1(2)
#ICa=7| HEHRZ 5-1 | 6-0 | 2-3 0-3 2-2 (0)
FUKUL JTT| FRiF#E 0-4 | 2-2 | 5-1 | 3-1 2-1(1)
BIC1=7| SRS 6-0 | 42 [ 5-0 | 1-4 3-1(0)
FUKUL JTT| FOEFD 0-3 | 1-4| 1-3 | 2-3 0-4 (0)
Y ZYGTC TERE 2-1 | 3-0| 0-4 | 3-1 3-1(0)
FUKUL JTT| {&E4 K{ER 0-4 (32|06 |04 1-3 (0)
WINNER | /MDD 0-6 | 1-3 | 1-4 | 4-1 1-3 (0)
BIoA=7| HEEKX [ 04| 04| 1-2| 13 0-4 (0)
RED2=7| KEEX 1-2 | 3-3 | 2-1| 3-2 2-1 (1)
wErEROEE|  SEAAK 1-4 | 1-3 | 1-4 | 04 0-4 (0)
RED1Z7| BAKR 0-5| 0-4| 05| 1-3 0-4 (0)
Mz BERBEN | 0-5 0-4|0-4| 05 0-4 (0)
KED2=7| HEHRMT | 0-6 | 0-5 0-6 | 0-6 0-4 (0)
BICA=7| SMEKRER | 2-2 | 23| 2-2 3-1 1-1(2)
RED2=T| =ZE=HE 3-2| 30| 1-5| 4-0 3-1(0)
wHEROER|  HKEFMW 2-2| 06| 2-2| 06 0-2(2)
RED2=7| KEIRENR 3-2 3-2 | 1-5| 2-4 2-2(0)
Ehvsaz7| EBEFE 1-5 | 2-3 1-3 | 0-5 1-2 | 0-5(0)
YAYGTC| HHBKX 4-2| 2-2 | 3-0 4-1 3-0 (1)
#ICa=7| @AM 3-0| 1-2 | 40 | 6-0 3-1(0)
wHEROER|  JERINE 4-1 | 0-3| 2-3 | 3-1 2-2(0)
HICa=7| KEEE 3-1|4-0 | 6-0 | 4-1 4-0 (0)
EHEROER IR 32| 1-3[ 40| 1-4 2-2 (0)




EFRBOZT WEREEER dpEres-2

EFH A7 EF A
BHI(FYRYGTC) 4-0 REEREI>2=7) IR
(L E A(FUKUL JTT) 2—1 KIFEREES1=7F) 1R
EIIHB(RYGTC) 4—1 HABAKEHERLVER) 1R
WEBH(FUKUL JTT) 5-0 BAXBEAEY2=7) 1R
K E(RRYGTC) 4-0 BEABENEHLT1ZT) 1R
NI & (B ILJITC) 6-0 hHRARES1=7) 1R
TEABENRYGTC) 1-3 EHREABEICL=T) 1R
ABKERHEX D FEH) 2-3 ZEFEEHED2ZT) IR
MRERFUKUL JTT) 2-2 MEMGEHERDEH) 1R
ERZWEI A7) 2-3 KA EMEBEED21=7) 1R
AFMHFE(FUKUL JTT) 3-1 BBEAHEEMHIC1ZT) 1R

SR E @IS A=T) 1-4 BEHBARFRXIGTC) 1R

FIAFIOFUKUL JTT) 0-3 MAMEIC2=7) 1R
TFTRZEHFRTGTC) 3-0 EZNERHEKRLVER) 1R

1£ 7 RERI(FUKUL JTT) 0-6 KEBFKETIC21=7) 1R
INEIDFI(WINNER) 4—1 INIERGEFHEBRDER) 1R




EFRBOZT WEREEER dpEres-2

EFAH A7 EF A
SEREEE IS 1=7) 2-2 BEHB(YRXTGTC) 2R
RBEXREEICA=7) 04 LA R(FUKUL JTT) 2R
KIFEREES1Z7) 3-3 IR RTGTC) 2R
BAMAKGEFHERDEH) 1-3 WEFEH(FUKUL JTT) 2R
BAXKBRRED21=7) 04 TRAKECRAYGTC) 2R
BERAENEHND1ZT) 014 NIsH& (B ILJTC) 2R
hERARES1=7) 0-6 TEFEEHRRYGTC) 2R
AHBRAAIGTC) 4-2 AHBEHERIFH) 2R
ZEFEREDLZT) 3-0 MAREZEFUKUL JTT) 2R
MEWMEEFHREK D FMH) 0-6 BEEAZE@EEI>AZT) 2R
KEIHERBES2L=T) 1-5 AFHFEFUKUL JTT) 2R
BEFREEHNC2=T) 0-5 BEREMEIS2=7) 2R
IN SRR FHEERADEH) 3-2 FMBEFOFUKUL JTT) 2R

MEFERISL1=7) 1-2 TXZEFRATGTC) 2R
YEBNEGRHERDER) 2-3 1£ 7 RERI(FUKUL JTT) 2R

KHFEREIO2L=7)

INFIDFI(WINNER) 2R




EFRBOZT WEREEER dpEres-2

EFEH A7 EFEH
BMHF(YAIGTC) 6-0 PEHRAEEDLZT) 3R
(LB R(FUKUL JTT) 3-2 SIMEAREIS1=7) 3R
TR XY GTC) 2-1 REEREI>2=7) SR
WEBH(FUKUL JTT) 1-2 KIFHER(BEED21=T) 3R
TR EARTRYGTC) 4—1 BEAFMAKEEHERLERH) 3R
NI & (B ILJITC) 5-0 BAKB@REY2=7) 3R
TREFEE(AYGTC) 5-0 BERBEBAMEHID2=T) SR
A B ISGRFHREBR D E£H) 5-1 BEFBEEHNTC2=7) 3R
MARBEFUKUL JTT) 2—-2 EHBARRAYGTC) 3R
EHZEWEI A=7) 5-1 ZEHFEHED1ZT) 3R
AFHHFEFUKUL JTT) 2-2 HEWMEEHERDVERH) SR

= HREEER IS 1=7) 4-2 KHAEEMEED1ZT) 3R

FIAFIOFUKUL JTT) 1-3 KEEREEIC1=7) 3R
TRZEHRRXYGTC) 3-1 INIERGEEFEXDVER) SR

1 2 REER(FUKUL JTT) 0-4 MEAMEIS2=7) SR

INFBIDFN(WINNER)

YEENEGEAERDER) IR




EFRBOZT WEREEER dpEres-2

EFAH A7 EF A

BERAENEHNC1ZT) 0-5 HMHI(VYAYGTC) 4R

hHRARES21=7) 0-5 WA A(FUKUL JTT) 4R

BERARERIS1=7) 2-2 HIIHEE(Y RYGTC) 4R
BRBEXREFISA=7) 1-3 WEEBH(FUKUL JTT) 4R
KIFBRRED21=T) 3-2 TEEERRATGTC) 4R
BNBAGEFERDEMH) 0-4 )% 2L (BILJTC) 4R

BAKBEREY 1=7) 1-3 TEFEEARRAYGTC) 4R

FHEEBEMREDS21ZT) 3-2 ABKEHEXDVEH) 4R
BBAHREMHNC21Z7) 2-3 MRBEFEFUKUL JTT) 4R
AFHBRAFRIGTC) 3-0 EHZEEICA2=7) 4R

EEFEHED2ZT) 4-0 AB#HFEFUKUL JTT) 4R
MEWMAEEFHREK D FMH) 0-6 SRERERIC1=7) 4R
EEINEGRHERDER) 4—1 FEAFIFUKUL JTT) 4R
KEFRERIS21=7) 4-0 TXZEFRATGTC) 4R
INIER(GEFHEBR D EH) 4-0 {2 KERI(FUKUL JTT) 4R

MEMEIOL=T)

INFIDFI(WINNER) 4R




